
Step 7

Step 8

SW491381/SW491382/SW491383
SW491384/SW491385/SW491386
SW491387/SW491388/SW491389
SW491390

Size:    1200x2000mm
             1300x2000mm
             1400x2000mm
             1500x2000mm
             1600x2000mm
             



View from inside

3

4

3

4

View from inside



View from inside

M4x20

[1] 1xHorizontal Rails.
      6xScrews M4x35.
      2xGlass Clamps.
      2xCaps.
      1xScrew M4x12.

[2] 1xInstallation
          Instruction.

[13]  1xFixed Panel .

[14] 1xDoor Panel.

[3] 1xHandle Set.

[4] 4xProfile Covers.
  
     

[6] 8xWall Plugs.
     8xScrews M4x35.

[7]  8xScrews M4x8.
      

[5]  
      

2xGlass Connect Clip.

[8]  4xWater Deflectors.

[9]  1xMagnetic Seal.

[10] 2xWall Posts.
        2xProfile Connectors.
        

[12] 2xPosts 

[11]  1xAluminum .
         2xClip R&L.
         1xWall Plug.
         1xScrew M4x20.

L R

IN
ST

AL
LA

TI
ON

  IN
ST

RU
CT

IO
NS

NN
I1

13
1

[15] 1xCap.

1

3.2mm

2



1160-1200(1200mm)
1260-1300(1300mm)
1360-1400(1400mm)
1460-1500(1500mm)
1560-1600(1600mm)

View from inside

2

3

3

2

1

1

4

4

Screw 
M4x12

[1] 9xWall Plugs.
[2] 14xScrews ST4x35.
[3] 8xScrews ST4x8.
[4] 1xHandle Set.
[5] 2xWall Post.
[6] 2xPost.
[7] 1x .Horizontal Rail
[8] 2xGlass Clamps.
[9] 2xCaps.
[10] 1xScrews ST4x12.
[11] 1xAluminum.

[12] 1xBottom Slider(L/R).
[13] 1xAluminum Caps.
[14] 4xWater Deflectors.
[15] 2xProfile Connectors.
[16] 4xProfile Covers.
[17] 1xCap.
[18] 1xFixed panel.
[19] 1xDoor Panel.
[20] 2xGlass Connect Clip.
[21] 1xScrew ST4x20.
[22] 1xMagnetic Seal.

[1]
[2]

[3]

[5]

[6]

[18]

[7]

[8]
[10]

[20]

[14]

[17]

[19]

[12]

[11]

[13]

[4]

[9]

[2 ]2

[2 ]1


	页 1
	页 2
	页 3
	页 4

